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from google.colab import drive
drive. mount (' /content/drive’)
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import matplotlib. pyplot as plt
import numpy as np
import pandas as pd

pd.read_csv() B#(C. T7MILEZ/\REEHT " THATEREL. BERS. AT>3a>E5H5.

# Google Colaboratory MIZBED T 7 A IL/INAD—Hl (BEADEXEIZIKET S)
Data = pd. read_csv (' /content/drive/My Drive/MyStatFiles/StatData02_1.csv')
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import matplotlib. pyplot as plt
import numpy as np

import pandas as pd

import io

from google.colab import files

O—HILICHBDIT7AILET7YvITO— RIBLEHIC, RDUTEERITID.

[T7AIVEEIR] EWDSIRIATTL DT, BHDP CAH UHEMERDU S B°S SDEED) DI
JO—-RIREST7AILEIBET D,

uploaded = files.upload()

v IO— ReENEI7AILEHRRREND,. TDIF7AILE&EFEDOT,



io.ByteslO(uploaded[' 7 77 -1 )L44.csv'])

EUT. CnN%Z pd.read_csv() BEITER IRV REDRER(CIRD,

# R
Data = pd. read_csv (io. BytesI0(uploaded[’ StatData02_1.csv']))
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In [1]:

import matplotlib.pyplot as plt
import numpy as np
import pandas as pd

EFDHDIZH(C scikit-learn EMHENDSATSUREDS. RiF. COSATSYFHMTFE (HERENIC(E
Al) DIEHDBNIESATSUTHD, HRPTLEIfEODNTNS.

In [2]:

from sklearn import |inear_model
model = linear_model.LinearRegression ()

2. EIBIEHR (StatData02_1.csv)
F—AZEiRMHAH. DEER

In [3]:
pd. read_csv (' F:2022_#iI2#fist==#tim/StatData/StatData02_1. csv'). head ()

Out[3]:

#S BR #=

0 1 46.0 2700
1 2 495 3220
2 3 50.0 3360
3 4 50.0 3500
4

5 49.0 3120

CNERDE. csv T7MILOTEICIE S [BE] [HE] OIBEBREHIAENMTNT, BiET—5(32
TEMBIBE> TV EN OB,

ZCT. 5N UHIEHEZREBICEEUCDOITRERIBEHEITRNDHICEICT D, CCTlE. BEZ
Height 4A&E% Weight E U TEIDH U, BESEAEBEUE. FEEDE UET—4I(C(E Data S\ DS &a1%E(T
(TTULB,



In [4]:

Data = pd.read_csv (' F:2022 #32#ist=#l5m/StatData/StatData02 1.csv’,
skiprows=1, t 1I7BZRIET
names=[ No' , 'Height', 'Weight']) t WS LBITEET

Data. drop (No', axis=1, inplace=True) # No hS LFRELZDTHIRR

Data. head ()

Out[4]:

Height Weight

0 46.0 2700
1 49.5 3220

2 50.0 3360
3 50.0 3500
4 49.0 3120

3. B

In [5]:

plt. scatter (Data[ Height' ], Data[ Weight'], color="blue’) it B
plt. xlabel (" Height') # xEHIZEEZ AR
plt.ylabel ( Weight') # yERICE = ZBAEC

Qut[5]:
Text (0, 0.5, "Weight')
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COMMRICRBES I DER (QRELR) ZANDCET. —HFDORENSMEEHEITDIZENTES,
ERR. E)FERRIC(E2D3H D T, Height iS5 Weight ZFBITD3ED E. Weight HY5 Height = FiRIl 9 2EDH
550
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SAZER. BNEREBCHIT NI NLEUVTROBEND D, ZITlE. 2ZE Height & Weight 275
LRI NUVICEHLU T, ENENZ x &y EBMITT

In [6]:

X = np.c_[Data[ Height' 1] #
y = np.c_[Data[ Weight' 1] s
model. fit(x,y) i

Height Z3 5 LAY MLE L THH
Weight Z2a 5 LAY MLELTHE
XZERALEH. yERMNERET HSRIFERERDD

Out[6]:

LinearRegression()

ZO5UT. BABNIET—9ZTlcLT x By Z#RAIT 2 ENTED,

e EXE, x=48.5 THNUL y DFBUE (fitted value) (IRD KD (CRHSND.

In [7]:

s = np.c_[48.5]
model.predict (s)

Qut([7]:
array ([[2994. 83216783]11)

F—AIWBSED I UEZEE Height Z IS5 LANRT NLEUTZEDH x THDlz. ZMN%& model.predict() (XA
I D&, & Height (R B FAME (fitted value) IMESND. ULTIZH D T, (x, model.predict(x)) =7 Ow fLT
BRTEANSLBERNESND. KICESNIEEMRICERTHEI S,

In [8]:

plt. scatter (Data[ Height' ], Data[ Weight'], color="blue’) it B
plt. xlabel (' Height') # xEHIZEEZ AR

plt.ylabel ( Weight') # yERICE= ZBAEC

plt.plot(x, model.predict(x), color="red") # EIRELRR

Out[8]:

[Kmatplotlib. lines.Line2D at 0x26e7ce5b9a0>]
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plt.plot (CEX T plt.scatter &1L, (x,model.predict(x)) N mEfE L THHBEIEIN D,
TBLAEZSND, .,0Vv s, x etc ZEHUTHK.
In [9]:

plt. scatter Data[ Height' ], Data[ Weight'], color="blue") # B
plt. xlabel (Height') I xEh-ZTEFHHE

plt.ylabel (Weight') t yEhIcZE= Z A

plt. scatter (x, model.predict(x), color="red , marker='*") # EIFELR
Qut([9]:

<matplotlib. collections. PathCol lection at 0x26e7cecb2b0>
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In [10]:
plt. scatter (x, y, c="blue") #ERA
plt. xlabel ( Height')
plt.ylabel (' Weight’)
plt.plot(x, model.predict(x), ¢="red) HEIRELR

mDAZE marker (CLD

plt. scatter (x, model.predict(x), c="red , marker="s') {#fitted values Z#7Frsquare TERx

Out[10]:
<matplotlib. collections. PathCol lection at 0x26e7ce97e20>
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5. BIFIERDIAE LU A

O)RERZT y=px+q ERUIEESE, p MEE, qMIFENDSZELRD. CNSEEN(CRDIZIFNIER
DEKDICT B,

CCT. p,q DHEINMEMICRZDN. TNEZRTDBEERZIDIER (ZRTDEE. p (FT5. q (EN
I RNILERD) (IR TS THD,

In [11]:

p = model. coef_ # ERERR y=px+q DESE
a = model. intercept_ # ERERR y=px+qa DY
p, q

Out[11]:

(array ([[194.18308964]11), array ([-6423.04767959]))

HEZITRMOE LT, ZNS5%Z a, b &ELELD.

In [12]:

a=p[0][0] # [0] X7 LA DEOFBENDEZRZHEHT S (175D (0,0) FK5)

b = q[0] # (0] E7LADEOFEDERZHET S (RT MLD 0 K7
a, b

OQut[12]:

(194.18308963763505, —6423.047679593132)



In [13]:

# ERELE y=ax+bh XKL THD
plt.scatter(x, y, c="blue’") e &l Bl

x_range = np.arange (40, 60, 15) # [ENFEHEDT=6HD x OFEEFE QR EHNITELENEIITS)

plt.plot(x_range, a * x_range + b, ¢="red") HEIFERR y=ax+tb ZiEE
plt. xticks (np. arange (40, 56, 5)) # xEhE BROFE

plt. yticks (np. arange (1500, 5000, 500)) # yiEm B O
plt. xlabel ( Height')
plt.ylabel ( Weight')

OQut[13]:
Text (0, 0.5, "Weight')
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